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Adet RMS (ppm)
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AdetRaw (ppb)
_ X2 / ndf 34.8/53
10000|— p0 484.5 + 409.8

0 Hi lllll‘i

1D pull distribution

Mean -0.002593 + 0.1092
Std Dev 0.8027 + 0.07724
Underflow 0
Overflow 0
X2 I ndf 1.476/6
Constant 14.35+ 2,61
Mean 8.467e-17 + 9.366e-07
Sigma 0.7813 £ 0.0955
1 | Ll | Ll
4 6 8




AdetRaw RMS (ppm)

______
o
©

_____
o
©

™ ™

(wdd) sy

2'6eey
T'6cer
0'6cey
T'9cer
09cey
¢'seey
T'seey
0'seey
v'veey
eveey
cveey
T'veer
o'veey
ceeey
Tecey
o'eeeyr
veeey
geeey
ceeey
T'eeer
0'ceey
v'1eey
€Teey
c'Teey
T'Teer
0'Teey
€0cey
cocey
T'ocer
00cey
v'61EY
€6IEY
¢61eY
T6TEY
0'6TEY
41114
£81ey
2'81eY
T8IeY
0'8TEY
v'iiey
€LIEY
clLiey
TL1EY
0'L1eY
€9TeY
29TeY
TotEY
0'9TEY
0'€TEY
o4
¢oTEY
TotEY
0'0TEY



1D pull distribution
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asym_bcm_target RMS (ppm)
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g RMS (ppm)
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asym_usr RMS (ppm)
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asym_usl (ppb) 1D pull distribution
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asym_usl RMS (ppm)
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1D pull distribution
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lagr_asym_us_avg RMS (ppm)
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1D pull distribution
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lagr_asym_usr RMS (ppm)
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lagr_asym_usl RMS (ppm)
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